Govt Pt J.L.N PG College Bemetara

Department of Commerce

Half yearly Exam
Class: B.Com2
Session :2021-22
Subject :Corporate accounts

Time: 3Hr MM: 75
UNIT :1
Q-1 =T 9 AT g ? =00 TAT & A1ee T Hi-ai ot Rfdrat §2 7 Adrwarst w1 aof=
EAIE 1LY

what is debenture question ? what are the various method of reducing the debenture?
Describe their characteristics.

Or
g fafies @+t 7 ¥ 10 arer 100000 AT & fAifaa e afr 58 s /iRt 18
TS g 2 T 379T, M 4 9T qAT ATAw Ir=HT u< 4 T 37er 15000 & & forw smaes
TF ITH U AT 3ae & 4T siraee 92 wa stfa s ey #7 Y30 sreed &
| T o @it i quTEEE I gr TS FAT F [EH § AT E A qrafe
Fifsg
a limited company issued 10,0000 equity shares of rupees 10 each to the public, payable

rupees
to per share on application; rupees 4share on allotment and rupees 4 per share on final
call. Application received for 15000 equity shares and allotment was made on Pro Rata
basis. The access application money was utilized toward allotment. Pass necessary
journal entries in the books of Companies

UNIT 2

1Y U4 faeq § siax aqrse g+ &t At ffeay v aviw fifvm
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Distinguish between winding up and dissolution. Describe the different modes of winding

up.
Or

The following Trail Balance has been extracted from the books of ram Ltd. As on 31%

march 2016

31 AT 2019 it W Frfes i qeaat & FaferRra aerme dam far mar -

A== Particular 9T.9.L.F. sfazpr |FfR=cr.

3000 Equity Shares st =it 300000

10%Debentures & 9 45000

Opening Stock TPy Tgfaar 100000

Premises ¥a+q 110000

Purchase and sales % Ug fasyr 200000 | 335000

Wages ASTGl 74000

Manager ‘s Salary #«< T aa+ 9000

Rent ,Taxes and Insurance f<TaT T Te &ftHT 13800

Int. on Debentures T 9= 9T sqT<T 1800

Rent Received 1T aTH 3400

Transfer fees {3 ¢ 120

Goodwill =Ty 40000

Discount and Commission §a U& FHI9M 19000

Carriage Inward 3T ST ATST 8000

General Expenses OTHTT =4 11700

Bad Debts 3{9iTeq 3oy 1000

Repairs HOHT 3000

Prov. For Bad Debts 37erTeq 07 % forw sraems 3000

Debtors and Creditors 3&T Ud MK 124000 | 39200

Plant and machinery =ie vg RefiTdt 118000

Cash in hand and at Bank T#g 219 U &% § 12400

Sales and Return fa#¥ Ud #7 arat 100 80

Works Expansion Reserve fsfor s sy 100000
Total 8,45,500 | 8,45,500
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ATTHT FFIAT Fq o1 I Fraor o1 34 HTS 2016 FT THTH I a1or 99 ¥ forg aam
wﬁﬁwﬁyﬁvaﬂwﬁﬁwﬁwhw%

You are required to prepares to prepare the company’s statement of Profit and loss
for the year ended 31* march 2016 and a balance sheet as on that date after taking
the following adjustment into consideration :

Closing stock Rs 125000 st gfdaT 125000%

2 unexpired Insurance Rs 1500 EHTH ST 1500%

3 depreciation on plant and machinery at 25% w72 3R qeftad a2 Blq 25%
4

provision for Bad debts as Sundry Debtors at 5% .378Teq =0T ¥ ﬁ'q 5 %
AT

Rent due but not received Rs 400 &fSta ,freq sramer = 400%
wages to the extent of Rs 24000 ware production . ITITET FT AL & 24000

[y

a U

UNIT 3
CIEGA F ST F e § e g 2
1 919 2017-18 ¥ 40000, 2018-19 § 50000,2019-20 & 60000
2 2018-19 % 9T & AL AT 7 1 aT9 T 4000 H s erTfAer @
3 2017-18%6@11?6sooom@nﬁwﬁ:ﬁamﬁwﬁrwm|
4ﬁamﬁmaﬁwwﬁﬁwﬁwﬁmﬁsﬁmwﬁwgﬁﬁwuooﬁaﬁ
FATAAE |
SW%Wmaﬁawﬁaﬁmmooowﬁa&%ﬁ%mmﬁW%ﬁq
AT gt AT A § |
6 2019-20 F ATH ¥ ¥ 5000 fafaemy Y s anfrr 2
Weﬁwaﬁmaﬂnﬁmw%zaé%m%aatwwﬁﬁmﬁﬁm
Following information available from the business of Bharat Ltd.
1 Profit of 2017-18 Rs 40000,2018-19 Rs 50000 and 2019-20 Rs 60000.
2 non recurring income of Rs 4000 included in the profit of 2018-19.
3 Profit 2017-18 have been reduces by 6000 due to destroyed by fire .

4 Goods have not been insured but it is insure in future

.the insurance premium
estimated at Rs 400 per year .
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5 reasonable remuneration of the proprietor of the business is Rs 6000 per year but it
has not been taken into account for calculation of above mentioned profit .

Calculated goodwill on the basis of two year purchase on average profit of last 3 year .

Or

L & YEATTHA § T LT & 239 F Tearganat i w17 47 & BAfdray & 2aviw ¢ |
What Do you meant by Valuation of share ? How many method of valuation of
Shares? Explain it .

UNIT 4

following is the balance sheet of S Ltd as on 31* march 2016 ©H for. =T forgr 31 w4 2016 FY
= % :

Particular Amount
I EQUITY AND LIABILITIES
Shareholders fund :
20000 Pref Shares of Rs 100 Each 200000
4000 Equity shares of Rs 100 Each 400000
Reserve And Surplus :
Statement of Profit And Loss (Dr.
Balance) (2450000)
Non Current Liabilities :
5% Mortgage Debentures 100000
Current Liabilities :
Bank Overdraft 50000
Trade payables 100000
605000
Il ASSETS
Non Current Assets :
Fixed Assets :
Tangible Assets :
Premises 200000
Machinery 300000
Intangible Assets :
Goodwill 15000
Current Assets :
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Inventories

50000
Trade Receivable 40000
605000
Fret A= JIeT Y =TT | Fsﬁ?ﬁ o o1 The company got following scheme approved
by the court :
1 qETRTC sier it TRy Y sfer T © 75 Ut T & w0 § v qwar e
Treft o sfer e 37,505 BT € |
The Pref. Shares to be reduced to Rs 75 per share fully paid up . equity shares of
Rs 37.5.

2 SRTTAETRET X o Y ¥ ot AT ¥ Far § €T o ATATRE Ty HY Al
FI = foraT The Debentureholedrs took over the inventories and trade
receivables in full satisfaction of the amount due to them .

3 EITf @TaT FY GHTH FEAT & | The goodwill amount to be eliminated .

4 W § 50% BT AT 3 The Premises is to be depreciated by 50%.

5 sl ¥ goF HY & 50000 T2 & | The value of machinery to be increased
by Rs 50000.

Pass the necessary journal entry for the above transaction and prepare revised
balance sheet .

S & forg siier o org Fforr wd denfaa frgr sy |
Or

gﬂﬁ?ﬂ%mwmﬁé?mﬁm@mgﬂ%ﬁmtmﬁﬁqagmew
?

What do you understand from reconstruction? Distinguish between internal and external
reconstruction. When is it necessary?

UNIT 5

AT A U T BT 6T IAVAT HF8 A AT 5?2 AT THI AR THRT h 761 ST10(7 82 TH
ST A €€ FANY ST ot Y § TAT ST AqER qHATITY

How are unrealized profit calculated? How are they used at the time of preparing
consolidated balance sheet? Explain by an example

Or
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Particular A Ltd. B Ltd.
I EQUITY AND LIABILITIES

Shareholders fund :

Equity shares of Rs 10 Each 50,00,000 70,00,000
Reserve And Surplus :

Statement of Profit And Loss -15,00,000 15,00,000
Non Current Liabilities :

10% Debentures 10,00,000 -
Current Liabilities :
Trade payables 30,00,000 20,00,000

75,00,000  1,05,00,000

Il ASSETS
Non Current Assets :
Fixed Assets :

Tangible Assets : 30,00,000 50,00,000
Intangible Assets : Goodwill 10,00,000 35,00,000
Current Assets 25,00,000 10,00,000
cash and cash equivalent 10,00,000

75,00,000 1,05,00,000
On this date A Ltd.took over the business of B Ltd.on the following term :

1 ALtd is to be wound up and its to be considered as word Rs 6 each and the
share of B Ltd.is to be considers as worth Rs 12.50
2 Consideration discharged by B Itd. In the form of 25% in cash and 75% in equity
shares |
3 10% Debentures of B Ltd.would be converted into equal number of 1
15%debenturtes of B Ltd.of 100Each
Give journel entry in the book of A Ltd and prepare Balance Sheet after the
amalgamation in the nature of purchase .

I R #T A fr. ¥ e aat w8 1. ¥ sraams #r w7 -
1 AT 7 GHTIT 7 AT ST THF LM FT YT % 6 T 3T FTAT TR
i Yot for. & ofell T Yod € 6 Wi sier W4T Fraqm
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2 Bfor. awr w7 Wi 7 9q=F 25% T4 G 75% @war siet & g s
I
3 AR F10% Foroe qraTE g § /i o, F15% Fworas § aAS ©
100 =T, ® qfRafda g s |
AEALAF T Tt o i gy sy
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